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B.B.A. DEGREE EXAMINATION — 
JUNE, 2009.

(AY 2004-05 batch onwards)

First Year

FINANCIAL AND MANAGEMENT ACCOUNTING

Time : 3 hours Maximum marks : 75

SECTION A — (3 × 5 = 15 marks)
Answer any THREE questions.

All questions carry equal marks.

1. Define  accounting  and  state  any  three  of  its 
objectives.

PnUQ¯¼ß  Áø µÂ »UPn®  GÊ v  ÷©¾®  Auß  ÷|

õUP[PÎ À H÷uÝ ® ‰ ß Ôø ÚU SÔ¨ ¤kP.

2. What is Management Accounting? Briefly explain 
its scope.

÷©»õs ø ©U  PnUQ¯À  Gß ÓõÀ  Gß Ú?  Auß  

£µ¨ ö £Àø »ø ¯ _̧ UP©õP Â Á›.
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3. Journalise the following transactions :

(a) Raghu  started  business  with  capital  –  
Rs. 20,000.

(b) Purchased goods for cash – Rs. 10,000.

(c) Sold goods to Murugan for cash – Rs. 15,000.

(d) Paid wages – Rs. 3,000.

(e) Withdrew  cash  for  private  expenses  –  
Rs. 5,000.

RÌUPõq ®  |hÁiUø PPÐ US  SÔ¨ ÷£mk̈  £vÄ PÒ 

GÊ x P : 

( A) C µS  ö uõÈÀ  ö uõh[P  ÷£õmh  •uÀ  –  

¹. 20,000.

( B ) ö µõUPzvØS  \µUS  ö PõÒ•uÀ  ö \´ux  –  

¹. 10,000.

( C ) •¸PÝ US  ö µõUPzvØS  \µUS  Â Ø£ø Ú  –  

¹. 15 ,000.

( D) T¼ ö Põkzux  – ¹. 3,000.

( E) ö \õ¢u  ö \»Ä PÐ UPõP  ö µõUP®  Gkzux  –  

¹. 5 ,000.
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4. Distinguish Funds Flow Statement from cash flow 
statement.

{v  K mh  AÔUø Pø ¯  ö µõUP  K mh  AÔUø P° ¼¸¢x  

÷ÁÖ£kzx P.

5. What is meant by Break Even Analysis?

C »õ£  |mh©ØÓ  {ø »¨  £Szuõ´Ä  Gß £uß  ö £õ¸Ò 

Gß Ú?

SECTION B — (4 × 15 = 60 marks)

Answer any FOUR questions.

All questions carry equal marks.

6. From the following details, find out 

(a) Current assets 

(b) Current liabilities

(c) Liquid assets and

(d) Stock.

Current Ratio – 2.5

Liquid Ratio – 1.5

Working capital – Rs. 90,000.
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RÌUPs h Â Áµ[PÎ ¼¸¢x  

( A) |h¨ ¦a ö \õzx UPÒ

( B ) |h¨ ¦¨  ö £õÖ̈ ¦UPÒ

( C ) }ºø ©a ö \õzx UPÒ ©ØÖ®

( D) \µUQ¸¨ ¦ Ps hÔP.

|h¨ ¦ Â Qu® – 2.5

}ºø © Â Qu® – 1.5

|ø h•ø Ó •uÀ – ¹. 9 0,000.

7. From  the  following  Balance  Sheets  related  to
A Ltd., Prepare Funds Flow Statement :
Liabilities 2007

Rs.
2008
Rs.

Assets 2007
Rs.

2008
Rs.

Share 
capital 6,00,000 8,00,000

Cash
Accounts

60,000 1,80,000

Reserve 2,00,000 1,00,000Receivable 2,10,000 3,00,000
Retained 
Earnings 60,000 1,20,000

Inventories
Fixed assets

3,00,000
3,80,000

3,90,000
4,20,000

Accounts 
payable 90,000 2,70,000

9,50,000 12,90,00
0

9,50,000 12,90,00
0

Additional Information :
(a) The  company  issued  bonus  shares  for  
Rs. 1,00,000 and for cash Rs. 1,00,000.
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(b) Depreciation  written  off  during  the  year  
Rs. 30,000.
H ¼ªö hm Gß Ó  {Ö©zvß  RÌUPõq ® C ¸¨ ¦{ø »U 
SÔ¨ ¦PÎ ¼¸¢x , {v K mh AÔUø Pø ¯z u¯õ›UPÄ ®.

ö £õÖ̈ ¦UPÒ 2007
¹.

2008
¹.

ö \õzx UPÒ 2007
¹.

2008
¹.

£[S•uÀ 6,00,000 8,00,000 ö µõUP® 60,000 1,80,000
Jx URk
Dmh¨ ö £ØÓ

2,00,000 1,00,000 ö £ÓzuUP 
PnUSPÒ 2,10,000 3,00,000

Á¸©õÚ® 60,000 1,20,000 \µUQ¸¨ ¦PÒ3,00,000 3,90,000
ö \¾zu÷Ás ī  
PnUSPÒ 90,000 2,70,000

{ø »a 
ö \õzx UPÒ 3,80,000 4,20,000

9,50,000 12,90,00
0

9,50,000 12,90,00
0

T kuÀ uPÁÀPÒ : 

( A) ÷©ØPs h {Ö©©õÚx  ¹. 1,00,000 ö µõUPzvØS® ¹. 
1,00,000 ö ÁS©v £[SPÍõPÄ ® ö ÁÎ ° mhx .

( B ) ÷©ØPs h  SÔ¨ ¤mh  B s iÀ  ÷u´©õÚ®  
¹. 30,000 }UP¨ £mhx .

8. From  the  following  information  relating  to  
Sri Ram  Ltd., Calculate  :
(a) P/V Ratio.
(b) Break Even Point.
(c) Margin of safety.

Rs.
Total Fixed cost 45,000
Total variable cost 75,000
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Total sales 1,50,000
ÿ µõ®  ¼ªö hmiß  RÌUPõq ®  Â Áµ[PÎ ¼¸¢x 

PnUQkP : 

( A) C »õ£ AÍÄ  Â Qu®.

( B ) C »õ£ |mh©ØÓ {ø »¨ ¦ÒÎ .

( C ) £õx Põ¨ ¦¨  £Sv.

¹.

ö ©õzu {ø »a ö \»Ä PÒ 45,000
ö ©õzu ©õÖ® ö \»Ä PÒ 75,000
ö ©õzu Â Ø£ø Ú 1,50,000

9. From the  following  balances  extracted  from the 
books  of  Srinivas  on  31st March  2009,  prepare  the 
Trading and Profit and Loss Account and the Balance 
Sheet as on 31st March 2009.

Rs.
Stock on 1st April 2008 500
Machinery 2,250
Purchases 19,500
Wages 1,800
Insurance 2,675
Debtors 15,500
Stationery 225
Returns Inwards 650
Cash at Bank 2,375
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Rs.
Cash in Hand 250
Sales 25,000
Bills payable 1,500
Creditors 9,825
Capital 8,950
Returns outwards 250
Commission (Cr) 200

The closing stock was valued at Rs. 12,500.

31  ©õºa 2009 À •iÁø h² ®  B s kUPõÚ  ÿ ÛÁõì 

Gß £Á›ß  ¦zuP[PÎ ¼¸¢x  GkUP¨ £mh C ¸¨ ¦UPÎ ¼¸

¢x , Â ¯õ£õµ ©ØÖ® C »õ£ |mhU PnUS ©ØÖ® 31 ©õºa_ 

2009  Aß Ö C ¸¨ ¦{ø »U SÔ¨ ¦z u¯õ›UPÄ ®.

¹.

\µUQ¸¨ ¦ 1 ḦµÀ 2008ß  £i 500
C ¯¢vµ® 2,250
ö PõÒ•uÀ 19,500
T¼ 1,800
Põ¨ ¥k 2,675
PhÚõÎ PÒ 15,500
GÊ x ö £õ¸mPÒ 225
EÒv¸¨ £® 650
Á[Q° À ö µõUP® 2,375
ø P° ¸¨ ¦ ö µõUP® 250
Â Ø£ø Ú 25,000
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¹.

ö \¾zuØS›̄  ©õØÖâmk 1,500
PhÜ ¢÷uõº 9,825
•uÀ 8,950
ö ÁÎ zv¸¨ £® 250
Pª åß  ( ÁµÄ ) 200

C Öva \µUQ¸¨ ¦ ¹. 12,5 00 B P ©v¨ ¤h¨ £mhx .

10. For the production of 10,000 units,  the following 
are the budgeted expenses :

Per Unit
Rs.

Materials 70
Labour 25
Variable overheads 20
Fixed overheads (Rs. 1,00,000) 10
Variable overheads (Direct) 5
Selling expenses (10% fixed) 13
Distribution expenses (20% fixed) 7
Administrative expenses (Rs. 50,000 
fixed)

5

Total cost 155
Prepare a budget for the production of 8000 units.
10,000  A»SPÒ  EØ£zv  ö \´¯  vmhª h¨ £mh  ö \»Ä  
vmh¨ £mī À ¤ß Á¸©õÖ : 

A»S Jß ÖUS
¹.
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‰ »¨ ö £õ¸mPÒ   70
T¼   25
©õÖ® ÷©Øö \»Ä PÒ   20
{ø »¯õÚ ÷©Øö \»Ä PÒ ( ¹. 1,00,000)   10
©õÖ® ö \»Ä PÒ ( ÷|µi)     5
Â Ø£ø Úa ö \»Ä PÒ ( 10%{ø »¯õÚx )   13
ÁÇ[S® ö \»Ä PÒ ( 20% {ø »¯õÚx )     7
{ºÁõPa ö \»Ä PÒ ( ¹. 5 0,000 {ø »¯õÚx )     5
ö ©õzu ö \»Ä PÒ 155

8000  A»SPÒ  EØ£zv  ö \´¯  vmh¨ £mī ø »z 
u¯õ›UPÄ ®.

11. Explain the following :
(a) Trial Balance.
(b) Profitability Ratios.
(c) Subsidiary Books.
RÌUPõs £ÁØø Ó Â Á› : 

( A) C ¸¨ £õ´Ä .

( B ) C »õ£ Â Qu[PÒ.

( C ) x ø n HkPÒ.

12. Explain  the  various  Accounting  concepts  with 
suitable examples.
£À÷ÁÖ  PnUQ¯À  ÷Põm£õkPø Íz  uS¢u 
Euõµn[PÐ hß  Â ÍUSP.
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